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ek =280 S SRR T2 HFEX 0= A 95%
0 oSt ole 99.7%
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ck =3 EBPS FNCR T3 BEHEAL FI0llE HO{E 99.8%(CHER) ClOIE7F a0 US
L Blotk = 601 2%, 6AI0F 24, 10000 it e wtow Lizict B

SEHs X 7t ER u B o 2% .,-—
== Fe p = f " Atleast1- —— of the values
= 89 22| FElj2f At §lo] el 4 f . 'S
_/'\_ k Oﬂ EHél_o:l E|'%C)| ga@_tr 'Ill lie in the shaded area
P(|X—p| <ko)21-— 4 —
k = 2 BFS ZHOB + | BEHF = B
T H0ll= &0 & 75% CI|O[E{ 7 22 &0
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k= 3 BES EAOR 1 BEEA Tl H0iE 89% HOJE} ZEIE0] S
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SHE 3 (probability model)o| 2t

i'"% E6:10|E|' §|-§ H:|A9_| §|_§ ey SEA

= =T
(probability density function)= 2|0|siCt &H& P
2 St ohE W ()7 —ﬁ‘— U[=2t =2
2| (domain) BHE(f (x))E X|G 2 E(range)
5Hal40|Ct Of2f T2I2 0JAK é% UL By \ |
QF HLS ot R (L) 2| Of0]CH:
0|2k H20{= BiThe| =0(7} (S| AETIZOA = Hi2| =0]) H1£532! HAR0l= HA0| =E0|C} J2{22 A
£3 =2 2 gfp0fA = xQ| T ZollM 2HE2 00|

A
= T
of 4= @IXI2H J2|ALE é*EH E o= 2 ?7 POI 9%% e 4= AUCE (Off) Srethefn ol 5 8=0|

30,000()~35000()2! aHlo| H|E(EHE)2? TA| 12,0008 & =0| 0| 710l £3H= st 27} 5H20|
EICf
« X222 A|Z8|0|M(simulation: BEIEH 7)) & AP}

S|HEMOILt 24 EA0M RFRlof T Eat =5 70| QITF O] 7+F0| RURIH 22 AHl=(t-2E), 2

HA
so| RO(F-24E) 2IH0| sl

- AHE(EHEC 27| n<20~30)2 49 ZET0| gt 7HE A Al T2 et 2EYS 7HEEITH

IHA k

. (Goodness-of-fits: &etA] &) HIT 7 &t AN EA 2 e X -ZHE

« T2} 0|8 i P-P plot /I, A|ZHA B rule of thumb
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Frequency table (BI=H) 71 0[&317| ~ y~-2% XMeld Hdd

He Am2RE Bt etE U o8 OEA 71e 4 U=7P S|AE MO R HE slE R 1 ei4-S ot
1]

2
Lt S7tsoltt H2 Y2 3= Ain2RE 8 |EE§( 2% Hi) 2HS01 (histogramlt S &) 2&EO]

ol=
=

Of
S A L2 2E2REH =% g H(OIS 7|t BIE)S BHS0] BlwsiH BIEO| X0[7F A2l g™ By
TH2 O 2R E MEC SiAF 2K e T[Zf8itt

S[AE#M (histogram)

2 & Thpopulation) f(x)?

TFE 2T MYt DRICH 231oF SQISICHH 2HE T49F (observed frequency) 7 |CH 4= (expected

frequency) izt gl zloick = O = By 02 =Ey O = Ey o) gpopue k=8

TS = =] ~y2(df =k—-c—1)

HEEA|ZF (test statistics) ?

A
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[probability plot]

Probability Plot: A[Z4% &
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Quantile-Quantile plot
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FH0[HS| +AEEE 5 2%

o

T12Hzof #3598, X-F0il= et ElojEe

7 pi =(=05)/m) v zoqi= i ojofed p-sizs| 2t £ (2)

Empirical cumulative distribution
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Interpretation
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@% HNU Dept. of Statistics http://wolfpack.hnu.ac.kr

[(4/15]


http://wolfpack.hnu.ac.kr

§

e jpaFaps) (X&)
SriE 2tg - x|9al met
T = pearson moment skewness
X - jZ
L BEteE 7y = E(—) = =
c o3
—— > (x;—x)*/n
., HE “Skew = =
(Z ('xi — x)Z/n)3/2
HrEzo| fe= 00|10 X|4~E2= 20]Ct
SUUEE
pearson first skewness (Mode skewness)
mean —mode

skew =
std
Pearson's second skewness coefficient (median skewness)

3(mean — median)

skew =
std
N Ll
(O3 + 0, —-20,)
skew =
IOR
Groeneveld & Meeden’s coefficient
mean —median
skew = -
E(|X —median])
« HHEE=0, 22 X2 + 2 X3  0l= SAHYC| EEE PE02 FA2E JHEE A™ Y Q0]
N S
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n

(Hehdadd] (Ol&x| &l

H

r

O|AX| ZIEH anomaly detection

IOk FRLHE! 23 7z-score

_-mx)_, o
—s(x) HAT

MX|Z2 ECSICE m = mean, s = standard deviation

2 HR| LHO|| 95%7} £ota2 - H4It 28 &

=l
e
ol
—_
2
2

At most 1.5 IQR Median At most 1.5 IQR
AP R I e S | o o
Outliers 25th Percentile 75th Percentile Outliers
| | | | | | | | | |
| | | | | | | | | |
X Axis

Shows data range and labels
the values you are graphing.

Robust z-&4=

|x —med(x) |

robust —z =
mad(x)

, MAD = 1.4826 X median(|x; — med(x)|)

med = median, mad = median absolute deviation

[&1 AR 3% Proficiency test]
> el =0 : o x|
> rd <2 : g3

£.—MD > 2=l <3 : 79

T 07413*IQR > 3=ld : uj&

(4
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2 ZAQ| T
BR3HZAIR|7F BEHK far YOIE7| U501 1000412 B1Xf LIS Za1S H2[3 ZH0ICk ZAIR{7} BEIEHR]
Q0I7 5%0M 22

w2 1 | 2| 3| 4] 5| 6

Hle 150 160 165 155 170 200

£ 7

T TRl STeItE 2 =20 L 2ES %O IC.
CHEIZ HE - ARl SESHA| B
7|EHR I Al
777 H20[ ZLh= 71 ofol| Atel= BI0|Et
=3 1 2 3 4 5 6
dlE O, 150 160 165 165 170 200
Gy ) 1000/6  1000/6  1000/6  1000/6  1000/6  1000/6

0. — E)?
ts=Zgrv)(z(dfzk—c—l),k=%'9li

A P~ 1w — — —

=

7], ¢ = FEE 22| T

202l 2Rk = 6,c = 00[Cf

ROIEHE p-value AlLt
9.49 -

p —value = P(y*(df,a) > ts)

import numpy as np
x=[1,2,3,4,5,6]
f=[150,160,165,155,170,200]
e=np.repeat(1000/6,6)

E

array([166.66666667, 166.66666667, 166.66666667, 166.66666667,
166.66666667. 166.666666671)
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import scipy.stats as st
ts=sum( (f-e)*xx2/e)
print('Test statistic=%.2f | p-value=%.3f’'%(ts,1-st.chi2.cdf(ts,5)))

FORIE0| FolE SKECt A0 2 RIS 7|4 4 Gl AR = SESIT

FE|LEE S 010[2] GH|7H SYSHX| Ot | 9[5101 XHAZt3R121 1000 72| EOF =2 ZARRH Xt=0|Ct:
0|2 0|85104 4H|7} SLSHX| 5L

gX Oto] = | 0 1 2 3
oz 100 | 350 | 400 | 150

s 7He

=7+ : g0}, 040t HIZ2 SIS,

CHEZ I - SR BT

7 |CHEE ALk

HF7 0] b= AHA7H 32101 32 =Xt = X= O[F2E B(n = 3,p = 0.5)2 WELt

22z FXoo| 7 HBE Y RIE=P(X = i| X ~ B(3,0.5)) *1000,i = 0,1,2,3

0. — E)?
ts = Z( i z) ~){2(df=k_c_1)'k=%9|37|,C=$§E|E-¢-9_|7H_¢

=2 ofde] 8 k = 4,c = 00[Ck

R2IEHE p-value AlLt

p —value = P(y*(df,a) > ts)

import numpy as np

import scipy.stats as st
x=[0,1,2,3]

f=[100,350,400,150]
e=st.binom.pmf(x,3,0.5)%1000; e
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[ array([125., 375., 375., 125.])

import scipy.stats as st
ts=sum((f-e)*xx2/e)

print('Test statistic=%.2f | p-value=%.3f’'%(ts,l-st.chi2.cdf(ts,3)))

[> Test statistic=13.33 | p-value=0.004

F2[sHE0] 0.0042 F|E 5%ECH Ao B2 7|2HE| 1 2 3 HAFRIETO|ZRIE Ert =002 22|t
2t E0FHIZ0] =Lt & = QT

=
Ctee sHdistn MES Entst= XH2O| 47} Poisson RIS MEEX| YotE7| 9/35H0]

£ " 20 54 74 67 45 25 11 4

& vy Dept. of Statistics http://wolfpack.hnu.ac.kr [9/15]



http://wolfpack.hnu.ac.kr

AL EIEH0| Uit HERE Mty 2 R EE 2| He 40| 7He Q510 LB 2= S|
H UYE0| =X EH0 = YR £ CHF0| ZANE 7FSIALE X[REI0] 8ith= 78S 22 7HE |
oiCt

AN

S 7+

HOlE{o] 227} 0|2 HTREE MEX| ZEsts St 25
AS7H  HloJf BEEH 2EE FEEo|ct

- LiE7He S X E WEX|= M=t <=> 2L O 2R22IX|= 20

import numpy as np
data=np.random.exponential(0.5,100)

Shapiro Wik W-S7{2

(Z?:l a’ix(i))Q

YT —T)2 AFS = HX

; YRS o]- g5t 7ot

W=

z {(—log(y log(1-W,))—u)/o if4<n<ll
"=\ (log(1-W,)—u)/c if 12 < n < 2000

F2l2HE0| 0.052C A28 2 FR7HE0] 7[2%|0f H|0|E= e MEX| =t

import scipy.stats as stats
stats.shapiro(data)

[> (0.7728214859962463, 3.929337064056959%e-11)

Kolmogorov D-E7{|&

D = max

qj(x)| & (x) FHEARE, Fn(x) HOEHSH2x2g s

SOI8HE0| 42 FH0} FARIHA0| 7 PIE/0] HPEES T2X| oHalt D4 2 ZIE o2 92 4 9
Ct

A7 HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [10/15]



http://wolfpack.hnu.ac.kr

import scipy.stats as stats
stats.kstest(data, 'norm',args=(data.mean(),data.std()))

KstestResult(statistic=0.1846542541771728, pvalue=0.001858923062673114)

XS 24X 715t

— —

i

HI

dist{‘norm’, ‘expon’, ‘logistic’, ‘gumbel’, ‘gumbel_1’,
‘gumbel_r’, ‘extremel'} 7tsst g

HRE7HE  HO|H = X2 2 E WELE

WEH@:HNHENTIEEMENQEH.

Lo —

SOIEIB0| 06202 TRIHIS 7[2t6Hx| RO X|4SEES WL}

import scipy.stats as stats
stats.kstest(data, 'expon',args=(0,data.mean()))

KstestResult(statistic=0.0744020062140947, pvalue=0.6297010879529599)

Anderson-Darling AD S74[2F

A2 = nJ(Fn(x) — o) ‘ D0D(1 - x) ‘_ldcb(x)

S 440] 6.692 7HE 2 7|29 ££1.053 (037]0f] affelst= RelF&2 0.0N)ELt A2 2 FRIHE0] 7| 2|
H YAREEE [MEX| §h=Cf

import scipy.stats as stats
stats.anderson(data,dist="'norm')

AndersonResult(statistic=6.699223575977072, critical_values=array([0.555, 0.632, 0.759, 0.885, 1.053]),

significance level=array([15. , 10. , 5. , 2.5, 1. 1))

CHEZO| 220 s MM AN 2 7HsSSICY. scipy.stats 22

=71 Hlo|Efs X2EEE mhrt,
CHRIZ Y ; EOJE{ XI4-SBE whEx| of=C

T2l 15% 7[R ECH Ao B2 2R7HES 7|26k ROIE 2 X2 2 S MECL

import scipy.stats as stats
stats.anderson(data,dist="expon')

AndersonResult(statistic=0.5542469038363862, critical_values=array([0.917, 1.072, 1.333, 1.596, 1.945])
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sfiZ2Etot : HESH Normal Transformation

(ZrErst S normal transformation 244

1
22 X2 /X - In(X) - < APl Bty

1
max(X+1)—-X

H2 ALY \/max(X+1)—X = In(max(X+ 1) - X) -

Modified Tukey Ladder of Power

Xt if 2> 0
Y=|InX)if A=0
~X*if 1<0

Box-Cox tranformation : George Box and David Cox

A

Y=

A =00[HY = [n(X)

: : 1 alpha
import scipy.stats as stats P

xt,alpha = stats.boxcox(data)

0.22562423703607506

import scipy.stats as stats
stats.shapiro(xt)
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54 w3t
M&Et linear finction
2% & HO|E
Y=a+pX +e,i=1
def func(x, a, b): ~
(x, a, b) 54 13

return axx + b

import numpy as np

X = np.linspace(0, 10, 100)

Out[26]: array([ . , 0.1010101 , 0.2020202 , 0.3030303 , 0.4040404 ,
0.50505051, 0.60606061, ©0.70707071, ©0.80808081, 0.90909091,
1.01010101, 1.11111111, 1.21212121, 1.31313131, 1.41414141,
1.51515152. 1.61616162. 1.71717172. 1.81818182. 1.91919192.

y=func(x, 1, 2)+0.9%np.random.normal(size=1len(x))

71 Metst et tot= 72| Least Sqaure Methods

Il
>
+

>

x; 2l X0[2| M[&E0| £|A7t El= B4 ar, f7toh=s UY

mina,ﬂz ;= a = fx)’
i

from scipy.optimize import curve_fit
beta, est_cov = curve_fit(func,x,y)

: 14, -0.00482569],
array([1.06267426, 1.55151878]) a”aY‘[{_g_ggﬁgggsg, 8_3223323311)
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from scipy import stats
import numpy as np
slope, intercept, r_value, p_value, std_err=stats.linregress(x,y)

slope, intercept, r_value, p_value, std_err

Out[33]: (1.0626742610849165,
1.5515187834324884,
0.9605816298688206,
2.7442134254151623e-56,
0.031066665621587178)

import statsmodels.api as sm
model=sm.0LS(y,sm.add_constant(x))
fit=model.fit()

fit.summary()

Dep. Variable: y R-squared: 0.923
Model: OLS Adj. R-squared: 0.922
Method: Least Squares F-statistic: 1170.

coef stderr t P>t [0.025 0.975]

const 1.5515 0.180 8.628 0.000 1.195 1.908

x1 1.0627 0.031 34.206 0.000 1.001 1.124

import matplotlib.pyplot as plt

plt.scatter(x, y, marker='.")

plt.plot(x, 2+1xx, linewidth=2)

plt.plot(x, func(x,*popt), color='red', linewidth=2)
plt.legend(['Original', 'Best Fit'l, loc=2)

plt.show()
14 { —— Original

—— Best Fit
12 4
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def func(x, a, b, c):

return axnp.exp(—(x-b)*x*x2/(2*c*x*2))
np.linspace(0, 10, 100)

X
y = func(x, 1, 5, 2) # ¢l ysut

y_gen =y + 0.2xnp.random.normal(size=1len(x)) # noise
beta,est_cov=curve_fit(func, x, y_gen)
beta

Out[40]: array([1.08475072, 4.90685069, 1.88868034])

plt.
plt.
plt.
plt.
plt.

scatter(x, y_gen, marker='.")

plot(x, y, linewidth=2, color='blue')

plot(x, func(x, xbeta), color='red', linewidth=2)
legend(['Original', 'Best Fit'], loc=2)

show()

144
124
10 A1
0.8 4
0.6 1
0.4+

0.0 4

-0.2 1

024 ..

= QOriginal .
—— Best Fit ¢

AS=A

< —(x — by)? ) < —(x = by)? )
ap exp B a— +aexp| ———

X =

200 26‘%

np.linspace(0, 20, 200)
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